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Question D2 – Coexistence with future systems
You need to state what flexibility your User terminals 
have to coexist with future non-geostationary satellite 
systems. You should include measures you would be 
able to put in place if another non-geostationary 
satellite system were to enter the market in the 
future, and the expected benefits of such measures. 
Also state what measures future non-geostationary 
satellite systems could reasonably be expected to put 
in place to coexist with your User terminals.

Question D3 – Competitive impact (optional)
This is a multipart, optional question for explaining 
the impact of issuing you a licence (combined with 
other non-geostationary satellite system licences held 
or applied for by you) in terms of:

•

satellite systems.
•














